H £ 0l & AF & S

Al A

A MRIEER
B NEALE(LUDDHE/ LB - HET)
Ctel: 3ot sds NSA Fud+ EEREE)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Ne1gg2 603,635 593,914 9.721
= 66,784
- 536,851
NFEHEES (L3I AT/ NS - HEXE) 544,475 519,554 24,921
= 66,784
- 477,691
ZEotd SHE NN 2= 410,905 382,524 28,381
NLA HIH2 =8 226,387 240,031 13,644
201 Ler23 | 225,387 239,031 13,644
01 At2t2ltl 41,575 40,215 1,360
O1DXM M= 17,915
- MH&EA - HSXEAL AL XIA
96,0003 1602 A 15,360
- FSH - SEUHSIAM ANEROXA
73,0003 158 A 1,095
- A2 BMOXA
73,0003 202} A 1,460
OLXN &4 22,200
- A& E M2 XA 602 *260,00021 15,600
- UHSXHAl EHI2XIA
603 %110,0004 6,600
OLNAN 2&8 S5 1,460
- 3% 90&*10,00024 900
- LESE 702 +8,0002 560
02 s3=gHl 183,812 198,816 15,004
OLXA & RER3 183,812
- et 4802 260,000 124,800
- S 2,8802%20,490AH 59,012
203 HR=4Y] 1,000 1,000
03 A= PR FA| 1,000 1,000
OMEgs 243 1,000,000& 1,000
HES HEXE gs 33,979 36,470 A2,491
201 et 3| 32,979 35,470 A2,491
01 At22t2l] 5,715 6,190 A4T75
O==& & 2,535
- SAAI(2E) 96,0003 158 A 1,440
- HIgIEA(M) 73,0003 %158t A 1,005
O=s=d &8 602 *53,0002 3,180
02 s3=gHl 27,264 29,280 22,016
O=58 &5 28e= 27,264
- et 4803 *40,000A 19,200
- S 2,880&*2,80021 8,064
203 HR=4AY] 1,000 1,000 0




A A

1

[=]

M RS S(LESI A/ XN LHY - HERR)
5 5

Ci9l: ME5tD BEE KM 2UHES (e &8l
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
03 A=A RN 1,000 1,000 0
OXgAl MEXE gRFA
1,000,000& 1,000
ANZHE 28 & 82 148,539 104,023 44,516
201 Zet=3h] 12,076 9,816 2,260
01 AtR2t2|HI 12,076 9.816 2,260
OXIZAl 2t A 1,800
- NgAg =g 60,0002 »222 1,320
- N2 &2 120,000 +42 480
ONd 82= M=% 9,276
- N2A 88 U2 € 2IER
170&%10,0000H 1,700
-2 ER 28 2U2
17031%5,0000H*42] 3,400
-2 gR g2 Y
88,0002 x80H*43] 2,816
-dJI2 E§F 88 2t
17,0002 *20 )4 *42] 1,360
OR+=ENA H& 1,000
- HEH 200,000 =4 800
- RTEHAANS 50,0002 *4H 200
203 HR=4AH] 1,000 1,000
03 A= PR FA| 1,000 1,000
ONM&EEIl 28 g2
1,000,000 1,000
301 2P EN= 300 300
14 JIEt2 8= 300 300
OXXIEH &8 Ul =
150,000 *23] 300
306 £= 10,785 11,432 NB4AT
01 2d= 10,785 11,432 N64A7
OXNZA 33 ESHE 10,785,000& 10,785
308 AHAIEHMSOIE 124,378 81,475 42,903
183 SIS U B 4 HASAIE 124,378 81,475 42,903
OXIZA BEAAE 2 - RXZ22/H
124,378,000 124,378
H=H0l MEg= 2,000 2,000 0
203 HR=H] 1,000 1,000
03 A=A 2= 1,000 1,000
ONRZAL S Mgz RN
1,000,000 1,000
303 Z&a=s 1,000 1,000
01 Za= 1,000 1,000
O=ZAMl Nag=z= Z2ats 1,000,000& 1,000




SN NS
B Eyas

Sel HEFHEH 2 P S T (rl:ae)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
HE=EEL Y 1A FEst TA 133,570 137,030 A3,460
= 66,784
T 66,786
NS =EROHA ZAL 133,570 137,030 A3,460
= 66,784
- 66,786
201 fet=23y| 130,570 134,030 A3,460
= 65,284
T 65,286
01 AFS2t2ltl 130,570 134,030 A3,460
ONE=EIHA BS =528 113,070
- MEIABS 6,696 *16,000= 107,136
= 53,568
T 53,568
- ANESS 8,370& 182 151
= 75
- 76
- 012IHES 27,9003 +18= 503
= 251
- 252
- DISBAl S8 )1H3dS
132,000& »40= 5,280
= 2,640
- 2,640
ONEF=EDIHA A 13,000
- RUSHTANE S AE A oY
200 %10,0000HK 2,000
= 1,000
T 1,000
- 82= 1,000 *4,6000K 4,600
= 2,300
T 2,300
- JIZARES 4,000,000 4,000
= 2,000
- 2,000
- HPWAP R K| 2 == (4copy) S Y
600,000 *4=2 7| 2,400
= 1,200
- 1,200
OINEFEIIH AL 54|
9,000 »10& x50 4,500
= 2,250
- 2,250
202 04| 3,000 3,000 0




A AR1BE2

Ha: UFEHRSE (L TTHD/ LS - HEA)

Sel HEFHEH 2 P S T (29l m2)
BB S9I(EH) - HRAR - BaS A HIDEZ
= 1,500
7 1,500
NENGT 3,000 3,000 0
ONSFSIIAZA 01t
20,0002+ 10Z 152 3,000
= 1,500
1,500
B2 A HHI (M2 1S ER) OIEHIIEN 59, 160 74,360 A 15,200
JI= 2 (M2 1SS ) 59, 160 74,360 A 15,200
JIE2ZHI(MR18E2) 59,160 74,360 A 15,200
201 LEre | 27,960 26, 160 1,800
01 AR E2H| 27,000 25,200 1,800
ORHeY Jl=agt)
40,00021+252 * 122 x90% 10,800
OJI= ge4s A
9, 00022524641 122 16,200
0 zB2E| %0 %0 0
ORAEH KA 80,0008 128 %0
202 01t 25,200 42,000 216,800
NENGT] 25,200 22,000 A 16,800
OJl=ee 48 SO0
20,0008 %2528 1431 122 30 25,200
208 B2 ZA| 4,200 4,200
04 ENSYLREAY| 4,200 4,200
SLRELRCEESI
30,0002+ 122 4,200
405 Kot =6l 1,800 2,000 A200
01 HAUZEF=Y| 1,800 2,000 A 200
OR=EZ) 1,800,000 171 1,800




